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Q6. __________ is the synonym of "ASTONISHING". 
 

A. Sure B. Amazing 

C. Expected D. Boring 

 

Q7. __________ is the antonym of "Gloomy". 
 

A. Cheerful B. Sad 

C. Dejected D. Sorrowful 

 

Q8. Identify the meaning of the idiom "piece of cake". 
 

A. Task that you love so much B. Task that you have been doing in the recent 

days 

C. Task that you did a long time ago D. Task that you can accomplish very easily 

 

Q9. The sentence has an incorrect phrase, which are shown in bold and underlined. Select the 
option that is the correct phrase to be replaced so that the statement is grammatically 
correct. 
"The police has recover only a part of the stolen property". 

 

A. has recovered B. have recovered 

C. must recover D. will recovered 

 

Q10. Complete the sentence by choosing the correct form of the verb given in brackets. 
Listen to her speech ________(care). 

 

A. careful B. with care 

C. carefully D. more care 

 

Q11. Which cricket playing nation won its first test match in its cricketing history (against 
Ireland) in Dehradun? 

 

A. Afghanistan B. Bangladesh 

C. Canada D. Nepal 
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Q11. �?@ �ि?O � �Oल)O =?लO .O> )O .OA1?.K) /O 
+)O �ि?O � ��?A?@ (�01लै䠂! ?O  ��ल?,) /O 
+)? +Aल? �O}� /P� �I??? 
 

A. 
फ⬼�?)?},?? B. -??_ल?.O> 

C. �??!? D. ?O+?ल 

 

Q12. What does Akbar's Navaratnas refer to? 
 

A. The nine precious gems that were used in 

Akbar's crown 

B. A group of nine extraordinary people in Akbar's 

court 

C. A popular thali (food platter) that was served 

to the foreign visitors in the court 

D. Nine states in Akbar's kingdom that were 

prosperous and peaceful 

Q12. 
?-1 ?O  )=1m)ो䬂 ?? �>0 ]0? AP? 
 

A. 
�-1 �O  ,?� /े䜂 �},O/?ल ��ए �??O =?लO ?L �I/,I 
�=?A1?, 

B. 
�-1 �O  .1-?1 /े䜂 ?L 
@?/?1+ लK�ो䬂 �? @/ूA 

C. ए� लK��ि0 -?लI (.K�? �I -?लI) ��@O .1-?1 /े䜂 �=.O>I 
��?,I�ो䬂 �K +1K@? �?,? -? 

D. 
�-1 �O  @?�?जᱍ0 �O  ?L 1?जᱍ0 �K @/दृ♍/ �1 >??),++ू+ -O 

 

Q13. Which of these award is conferred for the best literary work written in the Kannada 
language? 

 

A. Saraswati Samman B. Jnanpith Award 

C. Pampa Award D. Yuva Puraskar 

Q13. ?m)= .??? /O �ल��? @=व्䵦O्䵗 @?�A�m0? 1�)? ?O  �ल� ?L) @? +J1}??1 �.0? �??? AP? 
 

A. @1}=,I @म⹍/?? B. _??+I  +I1}�?1 

C. +म⹍+? +I1}�?1 D. 0I=? +I1}�?1 
 

Q14. A recent study concluded that there is more fresh water in the sea in Greenland. What was 
the reason behind it? 

 

A. Growth in the population of sea animals B. Increase in the level of oxygen in the sea water 

C. Change in the course of rivers D. Meltdown of ice and glaciers 
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Q14. A?ल AI ?O  �? 
o00) )O +?? �ल? AP �? ्䵇I)लै䠂! ?O  @/J� /O 
�?? ??�? +?)I AP। �@?? ??1# ]0? -?? 
 

A. @/I्䵖I �??=1ो䬂 �I �-?.I /े䜂 =दृ♍// B. @/I्䵖 �O  +??I /े䜂 ऑ]@I�? �O  },1 /े䜂 =दृ♍// 

C. ?/.0ो䬂 �O  /?�+ /े䜂 -.ल?= D. -}+  �1 /A/?/.0ो䬂 �? �+ ल?? 
 

Q15. On 23rd September, 1965, the first step in carving out Haryana from Punjab was taken. On 
this day, _____________. 

 

A. Sant Fateh Singh decided to go on fast. B. Justice J.C. Shah was chosen to head the Shah 

Committee. 

C. The Indian Government set up the Shah 

Committee to establish the boundaries of 

Haryana. 

D. The formation of the Hukum Singh Committee 

was announced in the Parliament. 

Q15. 23 �@?�-1 1965 ?K +��?- @O Aर10?#? ?K 
ल  ?1)O ?? +Aल? ?./ � ?0?  0? -?। �@ �.), _____________। 
 

A. @?, },OA 9@?A ?O �+=?@ +1 �??O �? }P @ल? ��0?। B. m0?0/)ू, + �O @I >?A �K >?A @9/), �? 
o0� �I?? �0? 
-?। 

C. .?1, @1�?1 ?O A910?+? �I @I/? )?/?+91, �1?O �O  9लए 

>?A @9/), �I }-?+?? �I -I। 
D. @?@. /े䜂 AI�/ 9@?A @9/), �O  � ? �I  K?+? �I �� -I। 

 

Q16. _____________________ is an archaeological site belonging to the Indus Valley 
Civilization in Haryana State. 

 

A. Farmana B. Adi Badri 

C. Banawali D. Bharu Khera 

Q16. ____________ Aर10?#? 1?जᱍ0 /O �@�?J !?�I @m0?? @O @�-��?? �? +J1???�m=? }-ल AP। 
 

A. }1/??? B. �/. -्䵖I 

C. -?=?लI D. .z �O)? 
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Q17. Panipat has a prominent place in history as ____________ major battles took place here. 
These battles were major turning points that saw the area under Haryana come under a 
different ruler. 

 

A. one B. two 

C. three D. four 

Q17. ��?A?@ /O +?)I+? ?? �? �/J� }-?) AP ]0ो䬂�? 0A?� ____________ �/J� ल=?�0?? AI� -ी䀂। 0O ल=?�0?? �/J� /K= -O, �- 
Aर10?#? ?O  
�? व? �O} ?K �? 
ल  >?@? ?O  
?I) �?O .O�?  0?। 

 

A. ए� B. .K 

C. ,I? D. �?1 
 

Q18. Haryana government started lifetime monthly pension scheme for woman or girl of 
_________. 

 

A. Dowry harassment victim B. Acid Attack victim 

C. Mental illness D. Accident victim 

Q18. Aर10?#? @1??1 )O________/�Aल? 
-=? ल=?ी ?O  �ल� ��I=) /?�@? +O>) 0K�)? >Jz ?ी। 
 

A. .AO� �m+I)? �I 9>�?1 B. ए9@! 
�P� �I 9>�?1 

C. /??9@� -I/?1I D. .I +�?? �? 9>�?1 
 

Q19. In January 2019, six Indian states signed an agreement for construction of Renukaji Dam 
Multi-Purpose Project. Which amongst the following is NOT one of those states? 

 

A. Rajasthan B. Haryana 

C. Madhya Pradesh D. Uttar Pradesh 

Q19. �)=1I 2019 /O, �A .?1?I0 1?जᱍ0ो䬂 )O 1O#J??�I -?�? -AI�oO�0I0 +र10K�)? ?O  �)/?व# ?O  �ल� �? @/�L?O +1 A}??�1 �?�। 
�)o)�ल��? /O @O ?L) @? �) 1?जᱍ0ो䬂 /O @O �? 1?जᱍ0 )Aी䀂 AP? 

 

A. 1?�}-?? B. A910?+? 

C. /o0 ि.O> D. �्䵈1 ि.O> 
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Q20. Haryana gets Rs. _______________ budget estimated for 2019-20. 
 

A. Rs.15 Lakh Crore B. Rs. 0.10 lakh Crore 

C. Rs. 2.75 Lakh Crore D. Rs.1.32 lakh Crore 

Q20. 2019-20 ?O  �ल� Aर10?#? ?? 
)J/?�)? -�� __________ AP। 
 

A. 15 ल?� �1K) z+ए B. 0.10 ल?� �1K) z+ए 

C. 2.75 ल?� �1K) z+ए D. 1.32 ल?� �1K) z+ए 
 

Q21. Which State has won the Award for Central Government Scheme "Beti Bachao Beti 
Padhao" early this year? 

 

A. Haryana B. Tamil Nadu 

C. Madhya Pradesh D. Uttar Pradesh 

Q21. �?@ 1?जᱍ0 )O �@ =?व ?ी >Jy�? /O ?O � @1??1 ?ी 0K�)? "-O�I -�?� -O�I +"?�" ?O  �ल� +J1}??1 �I?? AP? 
 

A. A910?+? B. ,9/ल??!I  

C. /o0 ि.O> D. �्䵈1 ि.O> 

 

Q22. Name the child sports ace shooter who received Rastriya Bal Puraskar from the President 
of India? 

 

A. Nishant Dhankar B. Kartik Kumar Goyal 

C. Anish Banwala D. Nikhil Jituri 

Q22. .?1? ?O  1?�र+�? @O 1?�रI0 -?ल +J1}??1 �?्䵎 ?1)O =?लO -?ल �Oल @=व्䵦O्䵗 >K�1 ?? )?/ -??��? 
 

A. )?>??, /?�) B. �?),+� �I /?1 �K0ल 

C. 
?I> -?=?ल? D. )?��ल ��,I1I 
 

Q23. Which city in Haryana is popular for bone carving and jewellery? 
 

A. Faridabad B. Rewari 

C. Bhiwani D. Jhajjar 
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Q23. Aर10?#? ?? ?L) @? >A1, A!M!I ?ी )]??>I �1 �.K?# ?O  �ल� लK?��0 AP? 
 

A. }1I.?-?. B. 1O=?)I 

C. 9.=??I D. �जᱍ�1 
 

Q24. What is the traditional costume of a woman belonging to the Jat community? 
 

A. Lehenga and yellow/red orhni B. Ghagra, shirt, printed odhni 

C. Saris D. Lehanga and plain white and silver fringe 

Q24. �?� @/J.?0 @O @�-��?? �? /�Aल? ?ी +?1�+र1? +K>?? ]0? AP? 
 

A. लA?�? �1 +IलI / ल?ल �]?I B.  ?�1I, �/I�, �ि?�O! �]?I 

C. @?)I D. लA?�? �1 oलO? @फ⬼O . �1 �??.I �O  1?� �? �	�ल 

 

Q25. In which language did Ved Vyas write the Mahabharata epic ? 
 

A. Haryanvi B. Sanskrit 

C. Tamil D. Hindi 

Q25. =O. }0?@ )O �?@ .??? /O /A?.?1? /A???}0 �ल�? -?? 
 

A. A910?+=I B. @?}�ृ, 

C. ,9/ल D. /A?.I 
 

Q26. In March 2017, the Haryana Government doubled the prize money for 11 annual awards 
conferred by the Haryana Urdu Academy. What was the aim of this move? 

 

A. Provide financial assistance to Urdu authors B. Motivate students to learn Urdu 

C. Encourage new Urdu learners D. Recognize the outstanding contribution to 

promote Urdu language 
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Q26. /?�व 2017 /O, Aर10?#? @1??1 )O Aर10?#? �.Kव 
??./I �?1? �.� �?)O =?लO 11 =?�?व? +J1}??1ो䬂 ?O  �ल� +J1}??1 1?�> .K J)I ?1 .I। 
�@ ?./ ?? �oO�0 ]0? -?? 

 

A. �.ू+ लO��ो䬂 �K �=्䵈I0 @A?0,? ि.?? �1?? B. �?्䵔ो䬂 �K �.ू+ @I�?O �O  9लए िO91, �1?? 

C. ?ए �.ू+ 9>�?/-+0ो䬂 �K िKm@?/A, �1?? D. �.ू+ .??? �K -]?=? .O?O �O  9लए �m�ृ�� 0K�.?? �K /?m0,? 
.O?? 

 

Q27. Identify the famous author who penned poetry such as Bhedion Ke Dhang, Sant Sipahi, 
Sankh aur Shehnai, and Desan Mein Des Haryana. 

 

A. Anupchand Aftab B. Uday Bhanu Hans 

C. Khushiram Sharma D. Bhai Parmanand 

Q27. �@ ��@p लO�? ?ी +A�?) ?1O, ��mAो䬂)O .O�=0ो䬂 ?O  "� , @�? �@+?AI, >�� �1 >A)?�, �1 .O@) /O .O@ Aर10?#? �P@I ?�=??�� 
�ल�I -I। 

 

A. 
?+ू�?. �},?- B. �.0 .??I A?@ 

C. YI>I 1?/ >/?+ D. .?� +1/???. 
 

Q28. Haryana's main seasonal river Ghaggar enters the state via _______________. 
 

A. Barwala B. Himshikha 

C. Kalka D. Pinjore 

Q28. Aर10?#? ?ी /J_0 /L@/I ).I !_ 1 _______________ @O AK?1 1?जᱍ0 /O �=O> ?1?I AP। 
 

A. -1=?ल? B. /A/9>�? 

C. �?ल�? D. �+?�L1 
 

Q29. What did excavations at Nauragabad, Mittathal, Rakhi Garhi and several other places in 
Haryana show? 

 

A. These places pioneered in making the place 

Open Defecation Free. 

B. These places have the lowest rate of literacy in 

the state. 

C. These places show evidence of Harappan 

culture. 

D. These places have the highest number of 

voting population. 
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Q29. Aर10?#? /O )L1� ?-?., �/`ल, 1?�I  +I �1 ?� 
m0 }-?)ो䬂 +1 �m�)) )O ]0? �.�?0?? 
 

A. 0O }-?? �IलO /े䜂 >L� /I], -???O /े䜂 
्䵇+I -O। B. �? }-??ो䬂 +1 1?जᱍ0 /े䜂 @?�1,? �I .1 @-@O �/ AP। 

C. 0O }-?? A)o+? @?}�ृ), �O  ि/?+ /.�?,O Aै䠂। D. �? }-??ो䬂 +1 @-@O 
//� /,.?? �-?.I AP। 
 

Q30. What language is popularly spoken in Mahendragarh, Narnaul, Gurgaon and Rewari 
districts? 

 

A. Bhiwani B. Haryanvi 

C. Mewati D. Ahirwati 

Q30. /AO� +, )?1)Lल,  J= ?�= �1 1O=?=I ��लो䬂 /O ?L) @I .??? लK?��0 AP? 
 

A. 9.=??I B. A910?+=I 

C. /O=?,I D. 
/A1=,I 
 

Q31. When is the monsoon season in Haryana? 
 

A. July to September B. December to January 

C. September to December D. July to December 

Q31. Aर10?#? /O /?)@K) ?? @/0 ]0? AP? 
 

A. �Iल?� @O 9@,?-1 ,� B. /.@म⹍-1 @O �?=1I ,� 

C. 9@,?-1 @O /.@?-1 ,� D. �Iल?� @O /.@?-1 
 

Q32. What is the name of the extinct volcano standing alone in the North-West end of the 
Aravali mountain range? 

 

A. Morni Hills B. Dhosi Hills 

C. Tosham Hills D. Shivalik Hills 

Q32. 
1?=लI +=व? ्䵦र��ल? ?O  �m1-+�?/ �K1 /O �}-? �?/?} �=लJ्䵎 जᱍ=?ल?/J�I ?? )?/ ]0? AP? 
 

A. /K1?I +A?)I B. /K@I +A?)I 

C. ,K?/ +A?)I D. 9>=?9ल� +A?)I 
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Q33. The Government of Haryana does not allow ______________ in the agricultural areas in 
Hyper and High Potential Zones. 

 

A. community halls B. schools 

C. industrial units D. arrack shops 

Q33. Aर10?#? @1??1, 
�? �1 
�?? @�.?�=? �O}ो䬂 /O ?र �? �O}ो䬂 /O ______________ ?K 
)J/�? )Aी䀂 .O?I AP। 
 

A. �म⹍0I)?�I AIल B. }�ूल 

C. �द♍0K/�� ��?�0?? D. 
1� �I .I�??े䜂 
 

Q34. How was Mission Indradhanush useful to the Haryana people? 
 

A. Created new-born care units to provide 

emergency services 

B. Immunized all unimmunized and partially 

immunized children and pregnant women 

C. Eradicated malnutrition among women and 

children 

D. Promoted breastfeeding for all infants up to six 

months 

Q34. �/>) ���?)J?, Aर10?#? ?O  लK ो䬂 ?O  �ल� ?P @O �+0K I -O? 
 

A. �+?,�?लI? @O=?ए? ि.?? �1?O �O  9लए ?=�?, 9>>I 
.O�.?ल ��?�0ो䬂 �I }-?+?? �I �� 

B. @.I 
ि),1्䵌�, �1 �?9>� z+ @O ि),1्䵌�, -चᩍ�ो䬂 �1 
�.+=,I //Aल?�? �K ि),1्䵌�, ��0? �0? 

C. //Aल?�? �1 -चᩍ�ो䬂 �? �I +K?+ @/?o, ��0? D. �ः /AI?O ,� @.I 9>>I�? �O  9लए },?+?? �? ि�?1 ��0? 
 

Q35. Where is the Bird Sanctuary and National Park situated in Haryana? 
 

A. Kalayat B. Sohna 

C. Sultanpur D. Kabri 

Q35. Aर10?#? /O +�I 
.0?1o0 �1 1?�रI0 �o?) ?A?� �}-? AP? 
 

A. �ल?0, B. @KA?? 

C. @Iल㉍,??+I1 D. �-1I 
 

Q36. How many wildlife conservation areas are there in Haryana? 
 

A. 2 B. 3 

C. 4 D. 6 
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Q36. Aर10?#? /O �??)O =m0�I= @�1�# �O} Aै䠂? 
 

A. 2 B. 3 

C. 4 D. 6 

 

Q37. In which cities are the Special Environment Courts functioning to hear water, air and 
environment-related cases? 

 

A. Kurukshetra and Panipat B. Faridabad and Mewat 

C. Faridabad and Kurukshetra D. Jind and Ambala 

Q37. �?) >A1ो䬂 /O +?)I, A=? �1 +0?व=1# @�-�?I /?/लो䬂 ?ी @J)=?� ?? ??/ ?1)O =?लO �=>O? +0?व=1# m0?0?ल0 Aै䠂? 
 

A. �I y�O्䵔 �1 +??I+, B. }1I.?-?. �1 /O=?, 

C. }1I.?-?. �1 �I y�O्䵔 D. ��?. �1 
?-?ल? 
 

Q38. In computing, WWWW stands for: 
 

A. World Wide Web Wildlife B. World Wide Web Work 

C. World Wide Web Week D. World Wide Web Worm 

Q38. ?� o0K���  /O, WWWW ?O  �ल� 
-व AP: 
 

A. =ल㉍!+ =?�! =O- =?�ल㉍!ल?�} B. =ल㉍!+ =?�! =O- =�+  

C. =ल㉍!+ =?�! =O- =I� D. =ल㉍!+ =?�! =O- =/+ 
 

Q39. Computer short term memory unit is called as _______. 
 

A. Random Access Memory B. Random Alert Messages 

C. Read And Memory D. Repeat Access Memory 

Q39. ?� o0K�1 >Q�व �/व /O/K1I 0K�)� ?K_______ ?A? �??? AP| 
 

A. 1ै䠂!/ ए]@O@ /O/K1I B. 1ै䠂!/ 
ल�+ /O@O�@ 

C. 1I! �1 /O/K1I D. 91+I� ए]@O@ /O/K1I 
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Q40. Find the odd-one out in the following: 
Asia, Europe, Australia, Russia 

 

A. Europe B. Russia 

C. Asia D. Australia 

Q40. �)o)�ल��? /O @O 
@� ? ?? �0) ?1O: 
��>0?, 0K1K+, �}रO�ल0?, z@ 

 

A. 01ूK+ B. z@ 

C. ए9>0? D. ऑ}रO9ल0? 
 

Q41. Choose the correct option that best expresses a relationship SIMILAR to that expressed in 
the original pair: 
Cub: Leopard:: ? : Kangaroo 

 

A. Infant B. Joey 

C. Cria D. Cub 

Q41. @AI �=?ल㉍+ �J)O �K /Kल �K=I �P@? @o-m? �.�??? AK: 
?- : लO+!व :: ? : ?�  ?z 

 

A. �m}ै䠂 � B. �K0 

C. �ि� D. �- 

 

Q42. What should come at the place of question mark (?) in the following number series? 
6561, 2187, 729, 243, 81, ?, 9, 3 

 

A. 66 B. 57 

C. 45 D. 27 

Q42. �)o)�ल��? @�_0? ्䵦र��ल? /O �� ��्䵡 (?) ?O  }-?) +1 ]0? AK)? �?�A�? 
6561, 2187, 729, 243, 81, ?, 9, 3 

 

A. 66 B. 57 

C. 45 D. 27 
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Q43. Pointing to someone on a photograph, Usha says, "That is the only daughter of only son of 
my granddad". How is Usha related to the person in the photograph? 

 

A. Usha is the person's daughter B. Usha is pointing to herself 

C. Usha is the person's mother D. Usha is the person's sister 

Q43. �? ?}=I1 /O �?@I }0�ि ?ी ?1, �>?1? ?1?O AI� �?? ?A?I AP, "0A /O1O .?.?�I ?O  �?लL?O -O�O ?ी �?लL?I -O�I AP"। �?? �@ ?}=I1 
=?लO }0�ि @O ?P @O @�-��?? AP? 

 

A. �?? �@ }0�], �I -O�I AP B. �?? �I. �I ,1} �>?1? �1 1AI AP 

C. �?? �@ }0�], �I /?? AP D. �?? �@ }0�], �I -A? AP 
 

Q44. If A: B = 4 : 9 and A : C = 2 : 3, find B: C. 
 

A. 2: 3 B. 3 : 1 

C. 1 : 3 D. 3 : 2 

Q44. 0�. � : -I = 4 : 9 �1 � : @I = 2 : 3, -I : @I �??)? AK ?? 
 

A. 2: 3 B. 3 : 1 

C. 1 : 3 D. 3 : 2 

 

Q45. If Ramu and Shamu work together they can paint a building in 30 days. If Ramu works 
alone, he can finish the work in 60 days. How long will Shamu take to finish the work if 
he works alone? 

 

A. 25 days B. 30 days 

C. 45 days D. 60 days 

Q45. 0�. 1?/K �1 >?/K �? @?- ??/ ?1?O Aै䠂 ?K =O 30 �.)ो䬂 /O �? �/?1? ?K +O� ?1 @??O Aै䠂। 0�. 1?/K 
?O लO ??/ ?1?? AP, ?K =A 60 

�.)ो䬂 /O ??/ �m/ ?1 @??? AP। >?/K ?K 
?O लO =A ??/ �m/ ?1)O /O �??)? @/0 ल O ?? 
 

A. 25 /.? B. 30 /.? 

C. 45 /.? D. 60 /.? 
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Q46. A flooring tile is in the shape of a rectangle having breadth 10 centimeters and length 24 
centimeters. How many such flooring tiles will be required to cover a floor of area 1080 
square meter? 

 

A. 30,000 B. 35,000 

C. 40,000 D. 45,000 

Q46. �? oलK1 �?�ल �0????1 AP �1 �@?ी �L=?� 10 @O�I/I�1 �1 ल�-?� 24 @O�I/I�1 AP। 1080 = व /I�1 ,>व ?O  �ल� �@I �??)I 
oलK1 �?�लO ल O I? 

 

A. 30,000 B. 35,000 

C. 40,000 D. 45,000 

 

Q47. A sum of money is divided between Seeta and Geeta in the ratio 4 :8. If Geeta's share is 
Rs. 760, find the total amount. 

 

A. Rs. 1,000 B. Rs. 1,140 

C. Rs. 1,200 D. Rs. 1,280 

Q47. @I?? �1  I?? ?K 4 : 8 ?O  
)J+?? /O ?J � +P@O -?��O  � Aै䠂। 0�.  I?? ?K 760 y+0O �/लO Aै䠂 ?K ?J ल �??)O +P@O -?��O  � -O? 
 

A. 1,000 y+0O B. 1,140 y+0O 

C. 1,200 y+0O D. 1,280 y+0O 
 

Q48. Pushing a car up a hill is an example of ___________. 
 

A. Contact force B. Non-contact force 

C. Magnetic force D. Surface force 

Q48. �? +A?=I +1 �? ??1 ?K ?]?? .O)? __________ ?? �.?A1# AP। 
 

A. @?+�+  -ल B. �P1 @?+�+  -ल 

C. �I?-�I0 -ल D. @,AI -ल 

 

Q49. Elements having the properties of both metals and non-metals are called as ___________. 
 

A. Metalloids B. Alloys 

C. Noble metals D. Compound 
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Q49. ???J �1 
???J .K)ो䬂 ?O   J# =?लO ?m=ो䬂 ?K ___________ ?A? �??? AP। 
 

A. �+/?,I B. 9/्䵦 /?,I 

C. /A?? /?,I D. 0L/�� 

 

Q50. The fusion of the egg and the sperm is called __________. 
 

A. Zygote B. Fertilization 

C. Ovulation D. Foetus 

Q50. �!o- �1 >Jि?#J ?O  @�ल0) ?K _________ ?A? �??? AP। 
 

A. 0I_/?� B. )??O�? 

C. )!म⹍-�1+ D. }+ू 

 

Q51. What is the recommended size of a brick? 
 

A. 8x10x10cm B. 15x9x9cm 

C. 19x9x9cm D. 23x8x8cm 

Q51. �? � �� ?? }=I?र ? �??1 ]0? AK?? AP? 
 

A. 8x10x10cm B. 15x9x9cm 

C. 19x9x9cm D. 23x8x8cm 

 

Q52. What should be the compressive strength of the brick? 
 

A. Minimum 3.5 kN/m2 B. Maximum 3.5 kN/m2 

C. Minimum 3.5 N/mm2 D. Maximum 3.5 N/mm2 

Q52. �? � �� ?? @�+I!? @?/}0व ]0? AK)? �?�A�? 
 

A. m0ू?,/ 3.5 kN/m2 B. 
//�,/ 3.5 kN/m2 

C. m0ू?,/ 3.5 N/mm2 D. 
//�,/ 3.5 N/mm2 
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Q53. Name the test for the quality check of the cement by its procedure as follows: 
8A block of cement 25 mm ×25 mm and 200 mm long is prepared and it is immersed for 7 
days in water. It is then placed on supports 15cm apart and it is loaded with a weight of 
about 34 kg. The block should not show signs of failure.9 

 

A. Setting Test B. Strength of cement test 

C. Float Test D. Adulteration Test 

Q53. @I/O� ?ी  J#=m? �?�� ?O  �ल� +1I�# ?? )?/ -??�� ��@?ी ??0व�=�? �)o)?)J@?1 AP : 
8�? @I/O� ?? ��! 25 mm x 25 mm = 200 mm लo-?� ?? -)?0? �??? AP �1 7 �.) ?O  �ल� +?)I /O !J-K ?O  1�? �??? 
AP| �@?O  -?. �@O �o-ो䬂 +1 1�? �??? AP �K�? �? .K@1O @O 15 cm .K1 AP �1 �@ +1 34 kg ?? .?1 1�? �??? AP| ��! ?O  �?1? ?K� 

�@�p ?O  @�?O ? )Aी䀂 �.�)O �?�A�|' 

 

A. �द♃]? +1I�+ B. @I/े䜂� �? /�-,ूI +1I�+ 

C. 
�}-1,? +1I�+ D. 9/ल?=� +1I�+ 

 

Q54. What should be the lime percentage in a good quality of cement? 
 

A. 20-25% B. 30-35% 

C. 40-45% D. 60-65% 

Q54. �? 
चᩍ�I  J#=m? =?लI @I/O� /O �J)O ?? ��?>? ]0? AK)? �?�A� ? 
 

A. 20-25% B. 30-35% 

C. 40-45% D. 60-65% 

 

Q55. Which amongst the following is a type of brick cut, in which the length of the bat is equal 
to half the length of the original brick? 

 

A. Queen closer B. King Closer 

C. Mitred Closer D. Half bat 

Q55. �)o)�ल��? /O @O ?L) @? � �� ?ी ?�?� ?? �? �??1 AP, ��@/O 1K=I ?ी लo-?� 
@लI � �� ?ी �?I लo-?� ?O  -1?-1 AK?I AP ? 
 

A. ]=I? ]लKज़1 B. ��? � ]लKज़1 

C. 9/�1! ]लKज़1 D. AI} -P� 
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Q56. _______ things are to be taken care of its nonoccurrence while laying brick masonry. 
 

A. Horizontal joints B. V joints 

C. Flush joints D. Vertical joints 

Q56. � �� ?ी ��)?� ?O  @/0 ______ �I[ो䬂 ?? o0?) 1�)? �?�A� ��@@O =K .K-?1? !��? )? AK. 
 

A. �P),� �K) B. =I �K) 

C. oल> �K) D. ल?-z+ �K) 
 

Q57. Ashlar masonry uses which one of the following options? 
 

A. Dressed stones B. Polygonal stones 

C. Quarry dressed stones D. Square stones 

Q57. ?र m? ��)?� /O �)o) /O @O �?@ �=?ल㉍+ ?? �}?O/?ल ?1?O AP? 
 

A. ि@?//, ि},1 B. -AI.I�I ि},1 

C. �.?? ि@?//, ि},1 D. =�?+�?1 ि},1 
 

Q58. Which point amongst the following should NOT be taken into consideration while 
constructing a stone wall? 

 

A. Increase the stone thickness from the bottom 

to the top of the wall 

B. As far as possible broken stones or small stone 

chips should not be used 

C. Double scaffolding should be used for working 

at a higher level 

D. Properly wetted stones should be used to avoid 

mortar moisture being sucked 

Q58. �? +m-1 ?ी .I=?1 -)??O @/0 �)o) /O @O �?@ �-�.J +1 �=�?1 )Aी䀂 ?1)? �?�A� ? 
 

A. ?I�O @O �+1 �I ,1} ि},1 �I /K�?� �K -]??? �?/Aए B. �A?	 ,� /I/��? AK �ू�O AIए = �K�O ि},1 �O  �I�)ो䬂 �K �?/ 

/े䜂 ?AI? लO?? �?/Aए 

C. �चᩍ� },1 +1 �?/ �1?O �O  9लए !-ल /�?? �? �+0K� 

��0? �??? �?/Aए 

D. �ू?O /े䜂 ?/I �K @K�?O @O -�??O �O  9लए 
चᩍ�I ,1A @O .I�O 
AIए +m-1 �?/ /े䜂 लO?O �?/Aए 
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Q59. Which amongst the following is NOT an example of random rubble stone masonry? 
 

A. Dry rubble masonry B. Rock or Quarry faced stones 

C. Flint rubble masonry D. Polygonal rubble masonry 

Q59. �)o) @O ?L) 
�)0�/? 1K=I ��)?� ?? �.A?1# )Aी䀂 AP? 
 

A. >I�� 1K)I /�??� B. �.?? @म⹍/I� ि},1 

C. 
�_? +m-1 1K!I /�??� D. -AI.I�I 1K)I /�??� 
 

Q60. The figure below represents: 

 
 

A. Isolated footing B. Wall footing 

C. Strap footing D. Mat foundation 

Q60. )I�O �.0? AI� ��} .>?व?? AP : 

 
 

A. +-ृ� �/?1 B. .I=?1 �/?1 

C. +टὍ�? �/?1 D. /P� �/?1 
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Q61. Which one of the following is NOT a type of shallow foundation? 
 

A. Strip foundation B. Raft foundation 

C. Pile foundation D. Combine foundation 

Q61. �)o) /O @O ?L) @? @?AI ??1 (�-लI )ी䀂=) ?? �??1 )Aी䀂 AP? 
 

A. �o! �/?1 B. 1?o� �/?1 

C. @?्䵇/A, �/?1 D. 9//्䵦, �/?1 
 

Q62. Load Bearing construction uses which type of footing? 
 

A. Combine Footing B. Raft Footing 

C. Strip Footing D. Pile Footing 

Q62. .?1 =A) �)/?व# /O �?@ ?1A ?ी )ी䀂= �}?O/?ल ?ी �??I AP? 
 

A. 9//्䵦, �/?1 B. 1?o� �/?1 

C. �o! �/?1 D. @?्䵇/A, �/?1 
 

Q63. Which amongst the following is NOT a component of a varnish? 
 

A. Drying oil B. Resin 

C. Thinner or solvent D. Bitumen 

Q63. �)o) /O @O ?L) =?�)व> ?? �? !�? )Aी䀂 AP? 
 

A. >K?+ ,Pल B. 1?ल 

C. ,?I�?1� 0? ्䵖?==� D. !?/1 
 

Q64. Name the type of paint by its description as follows: 
8This paint is made of oil and a strong drier. Pigment like chromium oxide or lead or red 
lead or zinc chrome is mixed with some quantity of very fine sand and then added to the 
paint. The paint is cheap, durable and the appearance is black.9 

 

A. Aluminum paint B. Bituminous paint 

C. Emulsion paint D. Anti corrosive paint 
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Q64. �)�omल��? =#व) ?O  
)J@?1 +O� ?? )?/ -??��: 
80A +O� ?Oल �1 �? /�-K? >J�?? (्䵑?01) @O -)? AP। िK�/0/ �]@?�! 0? लO! 0? 1O! लO! 0? ���? िK/ �P@O �+ /O�(1� �}0) ?K 
?J � /?}? /O -AI? AI /AI) 1O? ?O  @?- �/ल?0? �??? AP �1 �,1 �@O +O� /O �/ल?0? �??? AP। 0A +O� @}??, ��??� = �.�)O /O ??लO 1�  
?? AK?? AP| 

 

A. एल㉍0I/I)?0/ +े䜂� B. !?/1I +े䜂� 

C. +0}0 +े䜂� D. �=1K/I @?�?1� +े䜂� 
 

Q65. In which of the below, is it not necessary to remove existing paint to apply a new one? 
 

A. Aluminum paints B. Epoxy paints 

C. Oil paints D. Enamel paints 

Q65. �)o) /O @O �?@ /O )0? +O� ल ?)O ?O  �ल� +J1?)? +O� A�?)O ?ी �z1? )Aी䀂 AK?I AP ? 
 

A. एल㉍0I/I)?0/ +े䜂टὍ@ B. �+K]@I +े䜂टὍ@ 

C. �0ल +े䜂टὍ@ D. ए??/Oल +े䜂टὍ@ 

 

Q66. Amongst the parts of arches mentioned below, which member do the arches rest on? 
 

A. Pier B. Sofit 

C. Extrados D. Crown 

Q66. )I�O �.�  � /OA1?- ?O  .? ो䬂 /O @O �?@ .?  +1 /OA1?- ��?? AK?? AP? 
 

A. ,�-?/ B. �, 

C. �+1I @,A D. 9>�1 
 

Q67. What is the highest central wedge shape block in an arch called? 
 

A. Pier B. Key stone 

C. Sofit D. Crown 
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Q67. /OA1?- /O @-@O �? �O /J_0 /O�???1 �o! ?K ]0? ?A? �??? AP? 
 

A. ,�-?/ B. /I_0 �/?1 

C. �, D. 9>�1 
 

Q68. The flat, segmental, semicircular, horse-shoe and stilted arches are ________. 
 

A. two centered arch B. three centered arch 

C. five centered arch D. one centered arch 

Q68. @+?�, ��!I0, 
?व=रm???1, !K=O ?ी )?ल �1 
=}?�.I /OA1?- ________ Aै䠂। 
 

A. द♍�=�O �m्䵖, /OA1?- B. }्䵔�O �m्䵖, /OA1?- 

C. +?��े䜂 /्䵖, /OA1?- D. ए���O �m्䵖, /OA1?- 

 

Q69. In the present era, which type of lintel is widely being used for doors, windows etc. in a 
structure? 

 

A. Timber Lintel B. Steel Lintel 

C. RCC Lintel D. Brick Lintel 

Q69. =?व/?) @/0 /O �?@I "??�O /O .1=?[O, ��=?ी �m0?�. -)?)O ?O  �ल� �?@ �??1 ?O  @1.ल ?? 
�?? �}?O/?ल �?0? �??? AP? 
 

A. �?�  @1.ल B. �}+?, @1.ल 

C. RCC @1.ल D. ࠂई� @1.ल 

 

Q70. The structural horizontal block that spans the space or opening between two vertical 
supports is called as ______. 

 

A. Door B. Window 

C. Sill D. Lintel 

Q70. .K लo-=? �??1ो䬂 ?O  -I� ?ी � A 0? @K1?� ?K +?�)O =?लO }-P�?? �o! =?लO "??�O ?K ______ ?A?O Aै䠂| 
 

A. .1=?�? B. ��)�I 

C. .OAलIज़ D. @1.ल 
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Q71. What is the uppermost member of the roof truss called? 
 

A. Principal Rafter B. Strut 

C. Purlin D. Ridge Beam 

Q71. �? +1 -)I @�1�)? ?O  @-@O �+1 =?लO .?  ?K ]0? ?A?O Aै䠂? 
 

A. /I_0 /1+I B. �म⹍.? 

C. �)I D. /O) 
 

Q72. Which amongst the following is NOT a type of truss? 
 

A. Howe Truss B. Bratt Truss 

C. North Light Roof Truss D. King Post Truss 

Q72. �)o)�ल��? @O ?L) @? @�1�)? ?? �??1 )Aी䀂 AP? 
 

A. AK=O @?1�?? B. }P� @?1�?? 

C. ?I-+ ल?�� z} @?1�?? D. ��? � +K}� @?1�?? 
 

Q73. I am a simplest of the trusses because of its simple composition. In a nutshell, it's made up 
of a central vertical post, two rafters meeting at the apex and a tie beam or the horizontal 
base. I am often used in simple roof trusses such as in the shed, porch and garage. 
Who am I? 

 

A. Queen Post Roof Truss B. Fan Truss 

C. King Post Roof Truss D. North Light Roof Truss 

Q73. /ै䠂 
+)I @1ल 1�)? ?ी =�A @O @- @�1�)?� � /O @1ल?/ A ?| @��O+ /O 0A ?O �I0 ल�-=? ��.O, .K ?1)K �1 �? -�?)-?m)I 0? 
}-P�?? �??1 @O -)? AK?? AP| /ै䠂 
]@1 �o+1, -1?/.O �1  O1?� �P@O @1ल �? ?ी @�1�)?� � /O �}?O/?ल �?0? �??? A ?| 

 

A. ]=I? +K}� z} @?1�?? B. }P ? @?1�?? 

C. ��? � +K}� z} @?1�?? D. ??-+ ल?�� z} @?1�?? 
 
 
 
 

www.mseducationtv.com



 

Adv. No. 12/2019, Cat No. 95, Draughtsman (Civil) Instructor (Theory), 

SKIL DEVELOPMENT AND INDUSTRIAL TRAINING DEPARTMENT, HARYANA 

Afternoon Session 
 

December 17, 2019  Page 23 of 28 

 

Q74. What is the perpendicular distance of an object measured from the survey line called? 
 

A. Offset B. Index 

C. Main Station D. Range 

Q74. �? =}?J ?ी @=O�# 1O�? @O /?+I AI� ल�-=? .K1I ]0? ?Aल??I AP? 
 

A. 
m,ल+म⹍- B. @�ू�??� 

C. /I_0 �े䜂 ्䵖 D. @I/? 
 

Q75. Chain surveying uses the principle of: 
 

A. Traversing B. Chaining 

C. Ranging D. Triangulation 

Q75. ्䵦र��ल? @=O�# _______ ?O  �@p?�? ?? �+0K  ?1?? AP| 
 

A. ि),-?/� B. ्䵦ृ?�ल? 

C. @I/?�1+ D. }्䵔.I�? 

 

Q76. The procedure of the preliminary inspection of the area to be surveyed called as what? 
 

A. Resonnaissance B. Marking Station 

C. Location Stations by reference sketches D. Running survey lines 

Q76. �O} ?O  �?1��.? �)1I�# ?ी ��ि0? ?K @=O�# ?O  z+ /O ?A? �??? AP? 
 

A. +P/?�> B. }�O>? 
?�? 

C. @m..+ /�्䵔+ @O }�O>? }-?+? D. @=े�+ 1O�? @?�?ल? 

 

Q77. Which amongst the following is NOT a method of plane table surveying? 
 

A. Radiation B. Injection 

C. Intersection D. Traversing 
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Q77. �)o) /O @O ?L) +_ @=O�# ?1)O ?? ?1I?? )Aी䀂 AP? 
 

A. �=��1+ B. 
?,ः�O++ 

C. ि),चᩍ�O.? D. ि),-?/�? 

 

Q78. How is table surveying done? 
 

A. Graphically B. Linearly 

C. Circularly D. Triangularly 

Q78. +_ @=O�# ?P @O �?0? �??? AP? 
 

A. 1O�?-/�्䵔 द♍=?1? B. 1P��� द♍=?1? 

C. +91+्䵔 द♍=?1? D. }्䵔�K+ द♍=?1? 
 

Q79. What should be added to a technical drawing to highlight a region that has been modified 
since the previous version of the drawing? 

 

A. Spline B. Revision cloud 

C. Polyline D. Construction line 

Q79. ??)I?ी ��}?�?) /O �+�लO @�}?1# ?O  @�>K�?? �O} ?K �.?1)O ?O  �ल� �@/O ]0? �K=)? �?�A�? 
 

A. +टὍ�I B. @?>K/? 
} 

C. +IलIल?�? D. )?/?++ 1O�? 
 

Q80. What shortcut is used to switch on and off the object snap? 
 

A. Ctrl+shift+Alt B. F8 

C. Ctrl+D D. F3 

Q80. =}?J ??व) ?K -�. = �?लK ?1)O ?O  �ल� ?L) @O ल!J+- ?? �+0K  �?0? �??? AP? 
 

A. Ctrl+shift+Alt B. F8 

C. Ctrl+D D. F3 
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Q81. Which command in AutoCAD is used to separate a 2D object like line, polyline, arc, 
spline and ellipse in equal parts without knowing their length? 

 

A. Divide B. Trim 

C. Array D. Chamfer 

Q81. AutoCAD /O �?@ ?/?o! @O 1O�?, +QलIल?�), =र?-�?+, +_I �1 .I!व=रm �P@O ��/I0 =}?J ?K �-)? �)?ी ल�-?� �?)O -1?-1 
.? ो䬂 /O 
ल  �?0? �??? AP? 

 

A. �=.?�? B. @/?�ृm,? 

C. @1+I D. ��??1? -???? 
 

Q82. Which command is used to control the visibility of objects and to assign properties such as 
color and linetype etc.? 

 

A. Layer B. Fillet 

C. Modify D. Draw 

Q82. =}?J� � ?ी o�0?? �)0�}# �1 1�  = 1O�?�??1 �m0?�. �P@O  J# .O)O ?O  �ल� �?@ ?/?o! ?? �+0K  �?0? �??? AP? 
 

A. लO01 B. �}लO� 

C. /I)!}?� D. ्䵑? 
 

Q83. What is the approximate cost of the building with the volume content of 600 m3 at 
Rs.300/- per m3? 

 

A. Rs.520000/- B. Rs.340000/- 

C. Rs.180000/- D. Rs.980000/- 

Q83. 600 m3 ?ी �0?) @?/्䵇I ?O  .=) �)/?व# +1 Rs.300/- ��? m3 ?O  �A@?- @O 
)J/?�)? ल? ? ]0? AK I ? 
 

A. Rs.520000/- B. Rs.340000/- 

C. Rs.180000/- D. Rs.980000/- 
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Q84. Which amongst the following does not come under the responsibility of a quantity 
surveyor? 

 

A. Cost Advice B. Cost planning 

C. Procurement of materials D. Tender documents 

Q84. /?}? @=O�? ?O  .?�0m=ो䬂 /O �)o) @O ]0? )Aी䀂 AK?? ? 
 

A. ल?�, @ल?A B. ल?�, 0K�?? -???? 

C. @?//्䵇0ो䬂 �I �1I. D. .},?=O� ि},?= 
 

Q85. What is the area enclosed within the walls called? 
(This area does not include the thickness of the inner walls) 

 

A. Super built up area B. Built up area 

C. Carpet area D. Circulation area 

Q85. .I=?1ो䬂 ?O  -I� @/?=रm �O} ?K ]0? ?A?O Aै䠂? 

(0A �O} 
�.z)I .I=?1ो䬂 ?ी /K�?� ?K @�o/�ल? )Aी䀂 ?1?? ) 
 

A. @I+1 }-ल㉍�-
+ �O्䵔 B. }-ल㉍�-
+ �O्䵔 

C. �?लI? �O्䵔 D. +91@?�1+ �O्䵔 
 

Q86. The maximum average contact pressure between the foundation and the soil which should 
not produce shear failure in the soil is called as: 

 

A. Allowable stress design B. Soil bearing capacity 

C. Factored load D. None of the mentioned 

Q86. )ी䀂= �1 �/_I ?O  -I� 
�???/ �@ �@? @�+?व  .-?= ?K �/_I /O ??1)I �=,ल?? ?? �m+?.) )Aी䀂 ?1)? �?�A�, ?K �)o) ?O  z+ 
/O ?A? �??? AP: 

 

A. }=I�?0+ ,??= 1�?? B. 9/टὍ�I �I /?91, �/,? 

C. �?)!, .?1 D. �], /े䜂 @O �K� .I ?AI? 
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Q87. Which type of soil has the lowest soil bearing capacity? 
 

A. Sandy soil B. Moist clay soil 

C. Chalky soil D. Loamy soil 

Q87. �?@ �/_I ?ी ??र1? �/?? @-@O ?/ AK?I AP ? 
 

A. 1O,IलI 9/टὍ�I B. ?/ /��?I 9/टὍ�I 

C. �ू?? 9/टὍ�I D. ./ू� 9/टὍ�I 
 

Q88. Which field test is used to determine the soil bearing capacity of soil? 
 

A. Plate load test B. Direct shear test 

C. Tri-axial shear test D. Unconfined compression test 

Q88. �/_I ?ी ??र1? �/?? _?? ?1)O ?O  �ल� �?@ �O} +1I�# ?ी /.. लO?O AP? 
 

A. oलO� .?1 +1I�+ B. िm0� �,1?I +1I�+ 

C. }्䵔
�I0 �,1?I +91�+ D. 
@I9/, @?+I)? +1I�+ 

 

Q89. Who was the first person to present a comprehensive theory for the evaluation of the 
ultimate bearing capacity of rough shallow foundations? 

 

A. Terzaghi B. Louis 

C. Prandti D. Darcy 

Q89. �-लI @?AI )I=ो䬂 ?ी +1/ ??र1? �/?? ?O  /Kल㉍0?�?) +1 }0?+? �@p?�? +O> ?1)O =?लO +AलO }0�ि ?L) -O? 
 

A. ,O1ज़�I B. लI�@ 

C. ि?mद♍,I D. !?@ी 
 

Q90. What should be the ideal position for the placement of a master bedroom in a house as per 
Vastu-Shastra? 

 

A. North West B. South East 

C. South West D. North East 

www.mseducationtv.com



 

Adv. No. 12/2019, Cat No. 95, Draughtsman (Civil) Instructor (Theory), 

SKIL DEVELOPMENT AND INDUSTRIAL TRAINING DEPARTMENT, HARYANA 

Afternoon Session 
 

December 17, 2019  Page 28 of 28 

 

Q90. =?}?J->?ኚ验 ?O  
)J@?1 �??) >0) ?� ?O  }-?)) ?O  �ल� �.>व �.>? ]0? AK)I �?�A� ? 
 

A. �्䵈1+���/ B. .्䵌�++=ू+ 

C. .्䵌�++���/ D. �्䵈1+=ू+ 
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